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Note : Answer any five questions.. All questions carry equal 

marks. 

1. 	(a) Fill in the blanks with appropriate words. 
1x5=5 

(i) RBCs are rich in the enzyme 
	  associated with the 
formation of carbonic acid from 
carbondioxide and water. 

(ii) The number of stereoisomers in ketoses 
are 	 than that in aldoses. 

(iii) The structural polysaccharide of the 
bacterial cell wall is called the 

(iv) One complete turn of an a - helix in a 
protein contains 	 amino 
acids. 

(v) Vitamin D3  is produced by the UV 
irradiation of 	 present in 
the skin. 

(b) How does the principle of competitive 	3 
inhibition of enzyme action help in 
designing drugs against bacterial diseases ? 

(c) Why the peptide bond is planar ? Explain. 	2 
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2. 	(a) Define the following terms (any five). 	1x5=5 
(i) Primer 
(ii) Bacteriophage 
(iii) Iodine number 
(iv) Hapten 
(v) Gluconeogenesis 
(vi) Carcinogen 

(b) Write short notes on any two of the 
following : 	 21/2x2=5 
(i) B - Lymphocyte 
(ii) Muscle contraction 
(iii) Enzyme Immobilization 

	

3. 	(a) How does operon concept explain the 	5 
regulation of - galactosidase activity in E. 
Coli ? 

(b) Give a brief account of different phases of 	5 
growth and multiplication of a normal cell. 

	

4. 	Explain the following : 	 2x5=10 
(a) Polysaccharides donot mutarotate. 
(b) Oils, when allowed to stand in contact with 

air develop unpleasant odour. 
(c) Collagen proteins donot form a true helix. 
(d) Hemoglobin is called a transport protein. 
(e) Alcoholic fermentation of yeast is similar to 

lactate production in skeletal muscle. 

	

5. 	(a) What are C3  and C4  plants ? How do they 	3 
differ from each other ? 

(b) Describe the term oxidative 5 
phosphorylation. Give a brief description 
of chemiosmotic mechanism in oxidative 
phosphorylation. 

(c) State the role of water splitting enzyme 	2 
during photosynthesis. 
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5. 	(a) 	C3 	C4  tn---cr 	 .) 	f*--R 	3 
	fiTa t? 

(b) Li-)T-4,1R(41,4-).(ur -crq ch"). 	. 1177 I 	5 
atici-41ch .&■-i 11.  7.44;1R(41a, oJ1 	“.-1 tki tun 
r9hqircirtT 	-44 .411(sql 

(c) 51 	,iqr 4kCqtil iTITTzt \to f4s1Z7 	 *1 	2 

	

6. 	(a) DNA t 	 T1:1 cbli 	Tf#7 	4 
Zrotiitsql 'Wrf7R I 

(b) 	rod -44. 	*9' 	9mic4-ict, 
ifTwr f-ffr1§17 I 	 2x3=6 

(i) 

(iii) ch 011C-d. 

(iv) .&t-f 

	

7. 	(a) 	F-14--Ircvim 	4-11 	w'r9 af 	Turl 
(ch 	*) 	 2x3=6 
(i) TT( 	'1,k1=1 
(ii) LIJ.f.+114J-1 
(iii) -crfcm7 -ffqr -k-41:17 

(iv) cblftict;e4 air 	 r 
(b) 	4 3Lilti-c“-n fizrfff 41 	w1f---8 I 	4 
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6. 	(a) What are the different structural forms of 	4 
DNA ? Briefly describe the Z form. 

(b) Write the physiological role of any three of 
the following : 	 2x3=6 
(i) Biotin 
(ii) Retinol 
(iii) Cobalt 
(iv) Phosphorus 

	

7. 	(a) Differentiate between the following pairs. 
(any three) 	 2x3=6 
(i) Microfilaments and Microtubules 
(ii) Peroxisomes and Glyoxysomes 
(iii) Epimers and Anomers 
(iv) Cellular and Humoral Immunity 

(b) Describe the metabolic fates of pyruvate. 	4 
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*79.1.-09 

fajT9 	I CI ch ( .71* ) 

*01 	id tri-1-qr 

f -iTIZif, 2013 

	 f919' 

*794.-09 : 

Z7777 : 2 Vt4 
	

3TAIWU77-  3 :50 

: 	ea TrrqY dt-H 	q")/-4c,  i FT947 Trq)-" 3fw will gi 

1. 	(a) 3TRIWT T I TTI -ftwr T-2Trt 4.1 	I 	1x5=5  

(i) 513-fra+iis2,tr \lei 	cbt.i 

	

A TWtra. 	 

oto chFuiena qrqe4 

	t 

(ii) -kTv-tTr al 	--1-a-174 fqr-q-14 

	 t 

(hi) 	ore. 	11,)1 fir-4r 

(iv) f-*-Al tra7 ml a - 	 1, Tri -c194, 

-4 Q14194-11.  	311f 	't 

(v) UV 

	

gRI rcIdln-li D3  Wr dcII 	ql 	 

*1 
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(b) t .174=1 .5f-dTcrqIci-ict) 	f97:Ff 171.  3 
latf7r 	 64cIR 	311-Eml- 
•••9-r=1 f-*74 	lqt11 1 	t? 

(c) tz-r7 aTiq'4 	t? 0q1(9 q1 	I 	2 

2. 	(a) 	F-H--Irrirt.qcf T 4 i alitse-i 1-'77 I (W)1 ITN) 
(i)  	 1x5=5 

lat1Rqtrai4-1-t 
aTrzrTh.  4(sql 

(iv)  

(v) q.tchr-lq ,31 

(vi) \Tv' 

(b) 	1;1 4--iro 	 d -44 .4 f"*-t 1:1"“ifkitTf fatclit fffftf7 
(i) B - Fri 4-411d 	 21/2x2=5 

(ii) Ttt-q9.  .  
(iii)  

3. 	(a) 	E. Coli -413 - 4 	91A d 	I t f9711:19-  ml 	5 
oqitsq1 3tiktfff 4chr-4-1( gTT f-*74 	c 	311c-1 

(b) 	 ct-e 	ch 	.ff2TT 7 	fd5TR 	5 

yr-a-RITA cni 	 I 

4. -14-.1 Ocl cqRSql 	I 	 2x5=10 

(a) 4(41 	5 	• t 
(b) --qTa Tft* Tu4 -97 	fat---dTffkm 	 
	tl 

(c) ta19)' -44 	f 	rff5 1 	T 	-1c11 t I 
(d) 61 4 1) 4 c.i-Wciltra-1-ff 	t I 
(e) Tilt  4 	 cricnici kqfl 

k-1 411-1 tt 

CHE-09 	 5 	 P.T.O. 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

